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1. The relationship between void ratio (e) and porosity ratio (n) is:
Ayn=(1+e)(1-¢)

(B)e=(1+n)(1-e)

C)n=e/(1-¢)

(D)e=n/(1-n)

2. Effective stress on soll

(A) Increases voids ratio and decreases permeability
(B) Increases both voids ratio and permeability

(C) Decreases both voids ratio and permeability

(D) Decreases voids ratio and increases permeability

3. The shear strength of a soil

(A) Is directly proportional to the angle of internal friction of the soil
(B) Is inversely proportional to the angle of internal friction of the soil
(C) Decreases with increase in normal stress

(D) Decreases with decrease in normal stress

4. Factor of safety against sliding of a slope, is the ratio of

(A) Actual cohesion to that required to maintain stability of slope
(B) Shear strength to shear stress along the surface

(C) Neither (a) nor (b)

(D) Both (a) and (b)

5. Select the incorrect statement.

(A) Bearing capacity of a soil depends upon the amount and direction of load
(B) Bearing capacity of a soil depends on the type of soil

(C) Bearing capacity of a soil depends upon shape and size of footing

(D) Bearing capacity of a soil is independent of rate of loading




BA :

BhEAB1 1 EFEFEEINRESAFE

TENBEABTE R LATRBFR FE

6. A normally consolidated clay settled 10 mm when effective stress was increased
from 100 kN/m2 to 200 kN/m2. If the effective stress is further increased from 200
kN/m2 to 400 kN/m2, then the settlement of the same clay is

(A) 10 mm

(B) 20 mm

(C) 40 mm

(D) None of the above

7. The passive earth pressure of a soil is proportional to (where ¢ is the angle of
internal friction of the soil.)

(A) tan (45° - @)

(B) tan (45° + o)

(C) tan2 (45° - @)

(D) tan2 (45° + @)

8. In a triaxial compression test when drainage is allowed during the first stage (i. e.

application of cell pressure) only and not during the second stage (i.e. application of
deviator stress at constant cell pressure), the test is known as

(A) Consolidated drained test

(B) Consolidated undrained test
(C) Unconsolidated drained test
(D) Unconsolidated undrained test
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1. ZE— TR KA T 0.6m » F5HEABHZSGIE 3.0 (5T

AFEHME P (20%)
quit = 1.3¢’Nc + ¢’zoNq + 0.4yBN,

Nc = 37.2, Ng = 22.5, N;,=20.1 with ¢’ = 10kN/m2, ¢’ = 30°, y = 19kN/m3

0.6m J

2. EFE—HK 40cm RE 15m SCEEHRRZEE W E 800kN - 1551 8 RigEE
BRI TAER - BetEE2ml 3.0 ZEIFRBILRABBRETRERE - (20%)

* 800kN

1.5m

4m

l

clay
fs=25kPa

10m

silty sand
fs=100kPa

1m

clay
fs=100kPa
q.~2000kPa




